=.-£ ?;PTETERE Conversion

Name-_ _ Starttime- _ _:__ End time-_ _:__

Convert to the units shown:
1 26m = cm LT, 9000 cm = m
2. JI9m= mm 12. | 5000 mm = cm
L5 35m= cm 13. | 5000 mm = cm
4, 3cm= mm 11 000 mm = cm
- 3I0m= cm 1k 8000 mm = m
" 9 m= cm 16. 6000 cm = cm
7. 97 cm = mm a’. 7000 mm = m
8 gbm= __  _cm 18. 6e000cm=_ _ __ m
= 5 44 m = mm 1 g P 5000 cm = m
Sl 95 m= mm 20. 4000 cm = m

CHALLENGE} Some workers are paving a dirt road. The dirt road is

169 m long and the workers finished paving 105 m of the dirt road.

What ‘s the length of the section of the dirt road that is not paved?
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